EC

ELECTRON DEVICE

DESCRIPTION
high-class STEREQ SET.

NPN SILICON TRANSISTOR

2SC1400

The 2SC1400 is designed for use in AF low noise amplifier of a

PACKAGE DIMENSIONS

in millimeters {inches)

FEATURES @ High Voltage 80 V 52 MAX.
® High hgg and excellent hgg linearity. (0.204 MAX)
hee (Ic=0.5 mA}(Veg =3 V) : 600 TYP. i
hggy (0.1 mAY/hgga (1.0 mA) (Vg =3 V) : 0.92 TYP. ':-g
® ow noise voltage 122 mV TYP. i;
G
ABSOLUTE MAXIMUM RATINGS ] — €
Maximum Temperatures (001? §%
Storage Temperature . ............. —-55 to +125 °C x § 55
Junction Temperature . ........... +125 °C Maximum (3’_?3) _z 2
Maximum Power Dissipation (Ta=25 °C) (})ﬁ; CE. -
Total Power Dissipation ................ 250 mwW ; gg
Maximum Voltages and Currents {Ta=25 °C) V23 3%
Vcgo Collector to Base Voltage ... ....... 100 v S
Vego Collector to Emitter Voltage ... ..... 80 V ;f EZL{L@?OR JEE'gJEC ig‘g
Vego Emitter to Base Voltage . ........... 50 V 8. BASE IEC  : PA33
Ic Collector Current .. .............. 50 mA
Ig Base Current ... ................ 10 mA
ELECTRICAL CHARACTERISTICS (Ta=25 °C)
SYMBOL CHARACTERISTIC MIN. TYP. MAX. UNIT TEST CONDITIONS
hEE DC Current Gain 170 560 -~ VCE=3.0V, I1c=0.1 mA
hrga DC Current Gain 225 600 1000 -~ Veg=3.0V, Ic=0.5 mA
NF4 Noise Figure 2.8 10 ds VeE=6.0V, Ic=0.3 mA, RGg=10 k2, f=10 Hz
NF2 Noise Figure 0.8 3.0 dB VcEe=6.0V, Ic=0.3 mA, RG=10 kN2, f=100 Hz
NV Noise Voltage 22 30 mvV See test circuit
fr Gain Bandwidth Product 50 100 MHz VeE=6.0V, Ig=~1.0 mA
Cob Output Capacitance 2.7 5.0 pF Veg=6.0 V, Ig=0, f=1.0 MHz
Iceo Coliector Cutoff Current 50 nA Veg=100 V, Ig=0
ICEO Collector Cutoff Current 1.0 uA VCe=60V, Ig=0
lEBO Emitter Cutoff Current 50 nA Vep=5.0V, ic=0
Vge Base to Emitter Voltage 0.56 0.58 0.65 \ VCe=3.0V, Ic=0.5 mA
VCE(sat) Collector Saturation Voltage 0.09 0.3 v 1c=50 mA, 1g=5.0 mA
VBE(sat) Base Saturation Voltage 0.81 1.0 A Ic=50 mA, 1g=5.0 mA
Classification of hgga
Rank F E U
Range 226 — 450 350 — 700 500 — 1000

hgg Test Conditions : Veg=3.0V, Ic=0.5 mA
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TYPICAL CHARACTERISTICS (Ta=25 °C unless otherwise noted)

TOTAL POWER DISSIPATION
vs. AMBIENT TEMPERATURE
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COLLECTOR CURRENT vs.
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COLLECTYTOR CURRENT vs.
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NOAMALIZED COLLECTOR CUTOFF
CURRENT vs, AMBIENT TEMPERATURE
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> 0=

j" — pulsed
>‘ E 5 : T
&3
g2 2 M
E s 1 Ig=10+1g

= \{ H
5§t e g L
£3 os : s}
7 | !
S5 02 t
§8 o1 Vee(sat) 50 ]
QO

(5] =
ff ; 005 Tc=10-1g
=D -+
28002 I
8B ool |00 L (L]
>=> 0102 051 2 5 10 20 50 100

Ic —Collector Current-—maA

187

NEC ascraon vevice

COLLECTOR CURRENT vs.
COLLECTOR TO EMITTER VOLTAGE
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Cip—Input Capacitance pF

28C1400

Cop— Output Capacrtance —pF

¢ —Normalized h-Parameters

Rg—Source Resistance—Q
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VOLTAGE GAIN vs. FREQUENCY

NOISE VOLTAGE TEST CIRCUIT
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